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Function 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
Given the functions:  𝑓(𝑥) = 2𝑥 − 5, 𝑔(𝑥) = −3𝑥 + 9, and                

ℎ(𝑥) = 𝑥2 − 3𝑥 + 6 
 
 
Evaluate the following: 
 
𝑓(6)                                       𝑔(−3)                                       ℎ(2) 
 
 
 
 
 
 
𝑓(−1)                                   𝑔(7)                                          ℎ(−4) 
 
 
 
 
 
 
 
 
𝑓(4) + 𝑔(2)                     ℎ(1) − 𝑔(4)                          𝑓(0) − ℎ(3) 
 
 
 
 
 
 
 
 
𝑔(𝑥) − 𝑓(𝑥)                     ℎ(𝑥) + 𝑓(𝑥)                          ℎ(𝑥) − 𝑔(𝑥) 
 
 
 
 
 
 
 
 
 
 
 

What you will learn about: 
Functions 
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Graph the Linear Equation 
 

𝑦 = 𝑚𝑥 + 𝑏 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
Graph the linear function 
 
𝑓(𝑥) = 3𝑥 − 1 
 
 

 
 
 
 
𝑔(𝑥) = −2𝑥 + 3 
 

 
 
 
 
 
 
 
 
 

What you will learn about: 
Linear Functions 
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ℎ(𝑥) =
2

3
𝑥 + 4 

 

 
 
 
 
 
 

𝑝(𝑥) = −
5

2
𝑥 − 1 
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Solve each equation: 

 
−9𝑥 + 1 = −80                                               8𝑛 + 7 = 31 
 
 
 
 
 
 

−15 = −4𝑚 + 5                                             
𝑛+5

−16
= −1 

 
 
 
 
 
 

−6 =
𝑛

2
− 10                                                   −1 =

5+𝑥

6
 

 
 
 
 
 
 
 

−4 =
𝑟

20
− 5                                                    

𝑚

9
− 1 = −2 
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𝑎 + 5 = −5𝑎 + 5                                   5𝑝 − 14 = 8𝑝 + 4 
 
 
 
 
 
 
𝑝 − 1 = 5𝑝 + 3𝑝 − 8 
 
 
 
 
 
 
 
−7𝑥 − 3𝑥 + 2 = −8𝑥 − 8 
 
 
 
 
 
 
−8 − 𝑥 = 𝑥 − 4𝑥 
 
 
 
 
 
−14 + 6𝑏 + 7 − 2𝑏 = 1 + 5𝑏 
 
 
 
 
 
 
 

 


